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I semester B,AJB.s.wJB.F,AJts.v.A. Examination, JanJFeb . zazs

- 
(NEP) (Repeaters)

LA]*GUAGE SANSKRUTHAM - ]
Sarga (Canto) of Valmiki Ramayanam

(Grammar and Gomprehension)

Time ;ZYz Haurs Max. Madcs : 60

lnstructions : 1) Answer in Sanskrit, Kannada or Engtish.
2) Main guestion no. l, Vl and Vll should be answered in

Sanskrit only.

.\t. {rdrfl{-fl{ g*.d I

-Jq^r--,, .^.-*411 . :<5 ^.J^s-<^JU-UJru il ;,? Ur:! 5U;J'C,U.,\;U.

choose tnJ.orr*lt answer.

1) nnruurs qaf m: ?

3{) affi: eil) qs. $ qrc*fu, {) qrfuqrq:

$ ercq1fu, {) qrcqq

2) qr€*fu: th qftqs'€ i

s) +i6* firrqe fr qafrfr 3nqr"rd ?

3{) fu+rsqq. 3{Ty freruq E) {raaq1

4) q;r6-Fr gaT 6.r ?

31 q-{r&: 3dT1 ura*
5) EdursT ffi-aq.S t

el) qlffifi s*) el.qsM
G) erifo;ft: q. ?

.3{) ql"frfu: 3{I) r+rs:

7) gfr-q: *q €Gi !=rR ?

e0 oeq+{ 3Tr) q{t-{

8) *{rq: qrqrfrt *-q €-fld: ?

$ wtfr

g aqstr-ft $ u-enrffi

(8x1=31

3{) qfuEi 3iT) suti

$ l+rt-h:

q q*+

$ Egrdl

it t"i**

$) qfqT

{i qrfuqr€,

{l ed"r

{y ag:

M

el arq-t :fl gfe:

P.T.O.
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ll. gdEcr s-q;?r6tur 3-{1 ftsd I (Ixg=g)
ciEdcDddJi a"odil: 6Jo$ 6 ir:F drai;o_ eruio:,O.

Write an essay on any one.

tl ercfrffi: mvq-eifus-d r

;nOu."E dJdiiF-i19 AiCJEn CrrJCdd& ild:brr.

Write an essay about Maharishi Valmiki.

zi nurwrmui ve*tur frsqe-d r

en*ncJ: ra dda1:q" iodril;sn &C,oar:ro.

Summarize the story of Ramayana.

lll. 6u1:cg ft.q,rft fre-d I (2x4=8)

3JXOeDdd"o S5dilJ dJb$ e+) *re!3;Jii lO:g:O.

Write short notes on any two.

1) qRq:

2) 6dq{'

3) E;ls:

4) *{rq:

lV, qgutt{-disrrrq 3r{cTq F-€T vt.i frar-qrd | (4x3=12)

&so d.qeddSi: erdJmOa, ?nleddq. I-o:rD.
Translate and explain any four Shlokas.

1) anfiAur q 6) gm: v-*$5 *) foo, I

kffis: s: sq'.ia 68s'kqtrh: il

2) AcTffiqrafi+qft*E=i: I

Trdrfqftr qir.s s-€d qrrrrrq-dla tl

3) gkqrtfrfrqr1qffi $qPqffi1; 1

frgoitiIlrdrcre: srg'ffi{ffi: tt
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4) erf{' sFr,u;era s-qqi q fr} m: I

qqd-flqe-Er{: gfuS{q: qqTFiqlq tt

s) vdxpxef6651 qfrqqsfrqr<qq I

sffiq: qTgrfr{riqT flqqH.ry, il

O) aitiUur+ryq=j {ti e'sq{rsqq r

;tqi s@Sir &ii qqnqqfrq 11

v. Eq): u_+t fr-ga t

-J.-J 
-J-^ 

-J-)J- 4^a-)- Jc r - 1- ^ .u-!v 1) LJw LwLlJi eJ999 $r.Jc( 5' UI)J :i ; L- qg. ryO-€ w ;J U,i.l U.

Explain any two with the reference and context.

1) frqrrim W*qT gfrqr{ r{ftqrtqqft 
r

2) {r4siTerqei 5a {qr{TurT qt xq: I

3) $'R<q e-q{r=?-q q'J€--q qpr€qq 
t

4) €{ frRit{i E-dl qq"i tq nqr€q r

Vt, {iFFa qrvqr ffi{TeT frre-d r

:a) {iq-aq qr€i rq.ird 1 (r*-arq)

1) M
2) 3r-61 

,,

3) iq?n

4) qel

5) qfr'

6) q4qq

7) qfud:

B) afr.-o:
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(2x3=6)

(5x1=$)


